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	QNo
	PART A
	Marks

	
	Section I
	

	1
	(a) & (d) 
	½ +½

	2
	(b) & (d)
	½ +½

	3
	math  ,   csv
	½ +½

	4
	a) File.read(n)
	1

	5
	a) D={“1:one”, “2:two” , “3:three” }

	1

	6
	String, tuple, int, float..    any two
	½ +½

	7
	None
	1

	8
	T[-1::-2]
	1

	9
	School.com
	1

	10
	Gateway
	1

	11
	Like
	1

	12
	c. Primary key must be made of any single column

	1

	13
	b) In
	1

	14
	Show tables;
	1

	15
	c)  S[0] = “p”

	1

	16
	10#8#6#4#2#
	1

	17
	Numeric integer -Octal        b) Numeric integer (decimal)
	1

	18
	b) Not Null
	1

	19
	cookie is a small piece of data stored on the user's computer by the web browser while browsing a website
	1

	20
	Degree total no.of columns of a table. Cardinality total no.of rows.
	1

	21
	Bandwidth
	1


	
	SECTION -II
	

	22
	a) OrderID, char
	½ +½

	
	b) AVG(OrderAmount)
                       3700
	1

	
	c) Insert into order values(‘P106’, ‘2020-02-15’,’Ravi’, NULL);
OR
Insert into order(orderid,orderdate,salesperson) values((‘P106’, ‘2020-02-15’,’Ravi’);
	1

	
	d) Update Order set OrderAmount=4000 where OrderAmount is NULL;

	1

	
	e) Delete from order;
	1

	23
	a) Line 1- ‘a’
b) csv.writer(file)
c) writerow([name,contactno])
d) filename,'r'
e) csv.reader(file)
	1
1
1
1
1


	
	PART B
SECTION I
	

	24
	a) 1
b) -2.0
	1
1

	25
	The main objective of virus is to modify the information.
The main objective of Trojan horse is to steal the information
Virus can’t be controlled by remote.
Trojan Horse can be controlled by remote.
Or any other two correct differences
     OR
A fixed path is set up between sender and receiver in circuit switching. No fixed path in packet switching
Wastage of resources more in circuit switching and it is less in packet switching.
Or any other two correct differences
	2

	26
	a) GPRS-General Packet Radio Service
b) HTTP- Hypertext Transfer Protocol
c) URL-Uniform Resource Locator
d) SMTP-Simple Mail Transfer Protocol
½ mark for each correct expansion

	2

	27
	a) Definition 1 mark
Explanation with example 1 mark
OR
Use of global keyword-1 mark
Explanation with example – 1 mark
	2

	28
	DAY =1
 for C in range(1,4): 
         DAY =+ 2
         if  DAY%2==0:
              print("C",C,sep='#')
         else:
                continue
½ mark for each correction
	2

	29
	Start minimum value-1       ½ mark
Start Maximum value-3      ½ mark
Expected o/p—options (b) & (c) ½ mark for each
	2

	30
	2 marks for correct differentiation with example.
	2

	31
	import mysql.connector
MyConn=mysql.connector.connect(host="localhost",
 user="root",password="password",database="localhost" )
-1 mark for correct code
rowcount-  returns the number of fetched rows
	1





1

	32
	Any 2 differences  with correct example.—2 marks
	2

	33
	AU*SAM**
Partial marks can be awarded. 
	2

	
	SECTION II
	

	34
	def Exchange(Arr):      ½ mark
       l=len(Arr)               
       if l%2==1:   # if odd no.of elements in the list
           l=l-1                     1 mark for condition
       for i in range(0,l,2):  1 mark for correct loop
             print(Arr[i],Arr[i+1])
            Arr[i],Arr[i+1]=Arr[i+1],Arr[i]
       print(Arr)      ½ mark 
Any other correct code giving the same output is also accepted
	3

	35
	def count_All():                    ½ mark
    f=open("notes.txt")     ½ mark
    data=f.read()      
    count=0
    words=data.split()
    for word in words:
        if word.upper()in ["THE","THIS"]:
            count+=1
    print("The number of the or this is",count)      ½ 
    f.close()
1 ½ mark for logic
OR
def Line_in():         ½ mark
    f=open("diary.txt","r")      ½ mark
    lines=f.readlines()
    linec=0
    for line in lines:
        words=line.split()
        linec+=1
        if 'in' in words:
            print("Line",linec,":",line)
    f.close()
2 mark for logic
Any other correct code giving the same output is also accepted.
	3

	36
	a) CLIENTNAME         PHONE        P.PARTYID    DESCRIPTION
Chandra Kumar      745839475    P103              Anniversary
b) CLIENTID            ADDRESS                NOOFGUESTS
C102                    C153, King Circle                          50
C103                    B-13,Kings Corner                         80
c) PARTYID    SUM(NOOFGUESTS)
P101                                          54

	1

1

1


	37
	def push_stack(S, Names):                   ½ mark
    for name in Names:       1 ½ mark
        if len(name)>5:
            S.append(name)
    if S==[]:                                                   1 mark
        print("The stack is empty")
    else:
        print(S)
Using any other code giving the same output is also accepted.
OR
def pop_stack(S):           ½ mark
    if S==[]:                        1 mark
        print("Empty stack")
    else:                           1 ½ mark
        val=S.pop()
        print("The popped element is",val)
        return val                  
Using any other code giving the same output is also accepted.

	3

	
	SECTION III
	

	38
	a) Admin building. Reason-it has the maximum no.of computers
b) Star topologyAdmin
Engineering



Media
Business


	Marks can be awarded for bus topology also.
c) Firewall
d) Switch/Hub in all the buildings
Repeater between Admin  & Business building as per the above layout.
e) Satellite

	1


1







1

½
½

1

	39
	a) Select Name, Designation, Salary from employee where DOJ>’01/01/2012’;
b) Select Name, Department, Employee.Depid from employee, department where employee.depid=department.depid;
c) Select gender, count(gender) from employee where salary>19000 group by gender;
d) Select max(salary), min(salary) from employee where gender=’F’;
e) Select name, designation, salary from employee e, department  d where  e.depid=d.depid and department=’Accounts’;
	1


1



1

1


1



	40
	a) import pickle     ½ mark
def Add_Product():       
    f=open("PRODUCT.DAT","ab")       ½ mark
    pid=input("Enter the product ID")
    pname=input("Enter the product name")
    pcolor=input("Enter the color")
    price=float(input("Enter the price"))
    Rec=[pid,pname,pcolor,price]
    pickle.dump(Rec,f)
    f.close()             1 mark for reading values & dumping in file
b)   import pickle           ½ mark
def Transfer_Product(PColor):
    f1=open("PRODUCT.DAT","rb")  ½ mark for opening files
    f2=open("COLOR.DAT","wb")
    try:
        while True:
            Rec=pickle.load(f1)     ½ mark
            if Rec[2]==PColor:       ½ mark
                pickle.dump(Rec,f2)  ½ mark
    except EOFError:
        f1.close()
        f2.close()
½ mark for try---except

Using any other code giving the same output is also accepted.

OR
import pickle                      ½ mark
def Update_Balance(AcNo):
    f=open("ACCOUNT.DAT","rb+")                   ½ mark
    try:
        while True:                   ½ mark
            p=f.tell()                     ½ mark
            Rec=pickle.load(f)  
            if Rec[0]==AcNo:           
                f.seek(p)                    
                Rec[3]+=1000            
                pickle.dump(Rec,f)     
                break
    except EOFError:
        f.close()
½ mark for try---except
2 ½ mark for correct if block
Using any other code giving the same output is also accepted.

	5
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